B IEERAETCAET AT RIS M4-M5

FrfE: EAn BAEIHAE:  BRLSRE
MR e RTH:  FlUIMAX10 (e EE-gr£5)
BERE

Product size

A DT hHBIUNERER, AlRefeaixE, MEs, UsirhE B {i:mn
i =R KEPE1Z KEEE
Nd 7.6 2.8
M5 9.6 3.5

HIETE | M4*16 [1005] | | M4*20 [10022] | | M4*25 [10051] | | M4*30 [10051]
M4*35 [1005] | | M4*40 [1008] | | M4*50 [505] | | M4*60 [505]
M5*25 [1005] | | M5*30 [1005] | | M5*35 [1008] | | M5*40 [100H]

M5*50 [50H] | | M5*60 [50H] | | M5*70 [50H] | | M5*B0 [50H]

M5*90 [S0E] | | M5*100 [505] Wy 4 71 # # 886-3-5773766
- Ji: 4% - (it5) 86-21-34970699
JVE 4% 17 HL (R H1) 86-755-83298787
Http://www. 100y. com. tw



Administrator
新建图章


